Inverse Proportion Exercise 22.C

) T- ES I‘V\vcfs’zl} rro{ou’E:oua.( é,'o r~,

T :C WZ\Q-—\ W\.:Z

Fliad V‘((a'(";n.(l‘(,a Aot wecn T aar 1,

T =k
M
T-6
m 2 C = jad T = 12
2 o
A
bxL = K
hk -1z
&) Fad T wlen =4 T - 2
a
T = X
B> Fiad w when T=4.2 A8 = 12
A
4'8h« = (2
w — 2
Ak
= 2-5
. N L
4) ™ Vari€s§ (m/efsefl W“é‘l\ t
n:‘\ whean 'é':z
Qwoj b

F oA "C(Q—k-(évsSL\"{} between M



é‘L
M4 M = 6
=1 a('i 2
A ¢
“ M= %6
Q¢4 = K ?
36 = &
M = 1¢
Kl
M = 4

b) whea M= (Lad

.44 = 3_6

e‘l—
l.a4 €° <
&£ =

(4
Tl W
1>|0\0\
-&

N
1

T
)

v N\
R




